
-4t3i - Iti 3+44=5-44
- = - = -

- 5t4i → Both Pearland Imaginary parts -2 → wholly Real

⇒

-1+46=4+-5 -2-14+3+4

4i→ Wholly Imaginary
I→ wholly Real

⇒

2- sit}- i -2 - Zi - 5-3i
- = - = -

= - =

5-bi → Both Pearland Imaginary parts -7- si→ Both Pearland Imaginary parts
A

1-4-2+4 -31 - Ii -131 -I
- -

→→ wholly Real -Si→ wholly Imaginary
nun ⇒

t =3 -14=6 ⇒ + zits

-2+3'c→ Both Real and Imaginary parts i.→ wholly imaginary



Remember : i.2=-1
A. an

ee
-2s-2-si-i-si.is → -1s-zs-i-I.is#O--1-2s-4Oi-15(-

1)→ 5- 26in-151-1)
- hrealand Imaginary parts -260 →wholly imaginary⇒

⇒ ←

10-185-25<-20 → -1 -8-101-2-06 - zs⑤→ -1

10=175-201-1) -8-3%-251-1)

17-30:→ Both Pearland Imaginary parts30- Iti→ Bothrealand Imaginary parts
→ -7

← ←
5-Loi -L3i -6→ -1

-3tIi±i-3 → -1

5-7- i-61-1)
loi -7 wholly imaginary11 -ti→ Both Pearland Imaginary parts

→ -7

← →

12-124+124 - iz → -1 -5+54- slitsiz
12-121-1) -5-151-1)

24→wholly Real
-10-7wholly Real

-7 ⇒

← ←

9-Ii-L2i+8⑤→ -1 -12-2_0i+zi+s⑤→ -1

9- l8i-181-1) -12-170+51-13

1-l8i→ Both Real and Imaginary parts
-17 -Hi→ Both Pearland Imaginary parts


